C12 - 4.1 - Degree/Radian Notes

"One radian is equal to the length of the arc of a circle with radius = 1. 1 Radian is the central

angle whose arc is
equal to the radius

|1rad = 57.3°)
a
Hrad - ;
r= arclength "a" Lrad = 57.3° 0. =T
1linch = 2.54 cm rad = 2
0rqqa = 1lrad
One Radian equals 57.3°
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Notice the size of the circle does not J
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C12 - 4.1 - Degree/Radian Conversion Notes

Degrees to Radians: Radians to Degrees:
180° Trad % i . y 180°
Traa 180° 180 T

m and 180°are the same thing, just in dif ferent units

Find 0 in radians

Radians Radians

300 =2 300 x =30 _T_ep
- 180° 180 6
T 120m 2w Degrees Radians
120°=2  R0°X{em =Ty =73 0
0 Orad Orad
150 T w
12rad 12rad
300 2m T
990 —9 590 T _ 99T _ 11m 12yaq braa
180° 180 20 450 3_71 n
12ad 4raa
60° 4m T
12144 3raa
Find 0 in degrees 750 5w 5w
- n 180° 180m 12704 L2rad
— =? § X - = ? =60 9(° 61 E
3rad rad iz}ad 2rad
180°  12m_ Mg
12 — *rad
0 3 3
2m 2T 180° 360m o 270 — —
—_ =? — =—=72 2 rad 2 raa
5 rad 5 rad T 57T
360°  2Mqq 2T 1qq
720° 4T rqq 4T rqq
157 =7 180° 0
2 /rad ¢ 1.57 g4 X =90
180° 540 0
3=? 3rad X = 7 =171.89

If there are no units it is in radians.
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Cl2-4.1- #In Notes

Simplify
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